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M= Abstract

REOXENLDRECIAFERESRITITIICIE, XFF In order to search large scale documents and discover some knowledge
WIBEZERICITOIDELHD. LHL, WebBRFEIUDUETH  form them, fast string processing is necessary. However, methods based on
LWHNTWRERETI7MILEEDESIZRAWNSFATIEHA G inverted files, which are used in Web search engines, do not support detailed
BRRENTELL. T, EEHEIOCEERAGTEDRKRSIFA search. Though detailed searches are possible by using indices such as
WALIEHEAEIR R X ATBEIZA DA, BEIDH A XN KELD suffix arrays and suffix trees, there is a problem of large index size. In this
TLES. AR TIXEHBEXREIZAVE-EMCFF|ME  research, we propose efficient string processing methods based on

FEERETS. compressed full-text
indices.
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FLWEMEDEELES lookup(4) = 2, lookup(5) = 5
EMEDERBREDOHFREI NIV, RRVE(FIS4TZID text(6,8) = “agg”
M ERIFTES. child_I(L3) = {c}
JEHEEICEIE LB ERRT LITURLASBIE, SATSUD child_I(4.%) = {a. o}
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require ‘csa’
NTCIR-4 PATENT (B ARGEHFFF A|EI 1993-1997) reauire benchmark
X%é& 3’496,252 def traverse(csa, range, th, key)
#f [;rl;t("traverse [, range[0], ",", range[1], "] key =", key, "¥n")
YA X (BT BRE, utf8) 113.8G i = rangea(s) - rangezl0] 1.
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XEh D8 DFIE 36} nd
(K $ §IJ E 0) 001% Dfl J: 0) }j‘EfE) csa = CSA.new(ARGV[0],ARGVI1])
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[09828894586,99842145324] key = Bl G 5. then o000
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